F0505—% I —% 2FIE SL|JZk [A1=V0] Hi2 | H&% | $HIF | 5 XE
F-Jb-??ﬂ“ll\-HI\I\JIJI\-{D‘J“‘— ( F—ILSHIUR *x| - [ Rwis | - By | -
e 0 SERBEICERD 3 DORENEAB
XIYBS5R A —UT Lv.1: LRI 4 EE (1] 4 [XTvr—| BB | 8% | o |
— — MR : RBREEFTS, FX—IO—JVIC+[SLd]
Y R—kH5X 773151 Lv.1: |75~ R F—R~H—R ‘ 3 ‘ Z ‘/Q\yyuj\‘ Z ‘ 55 ‘ Z ‘
o J—. e “ WRSL+SI*2]. BERSL+SI] _
- ) JORw D (1] 4 Fevbrvd 10m [ 8% | BAH |
& Ea-vxr 5l LS R (] R>>HE (SF2R—7 2)
BE e - EH F+JzvS8—= [3] 3 [vaF=] - | A5 EIRY
(R) e MBAL+S1%3]
GBI AR RIS E—JU [ X[ 4 [XTv—]20m [ Bk [ Bl |
HX&@ 16| 9 |12 9 | 9 | 12| 9 N : HP[+3D+CL*3]
®—+2 | 5 | 3| 4| 3| 3] 4]3 HP 61 >070>3> | 5] 3 pO-JLER] 20m | 8k [EERT
SSZEE| 1 2 1 1 0 1 0 MP 46 R : X —J[-SID]
ST EXRU— [ 1] | | | | |
gh@E | 6 | 5 | 5| 4 | 3| 5| 3 ||Zzrk 5 MR 80 [5177] [+1D]
72 " 1
RS S | @b | I | @8 | WIRh | RS | 1780 | BED = LFvI [1] | = | | | |
— = N R EiRCHED (5A] [+1D]
aF SVIT EE| 0 |12 0 | 0] 0o -2]0 y
= YIhWN=T | 2] \ \ \ \ \
= 3 : V3 ) ARBEICMPR— 3 *5 \-TMPR— 3 %2
SEET I 1 ) ShER ‘ ‘ o J‘ BERAES( ‘ Jar or/"r J‘EJ
AFB TJLZARDPL— K 1] 9 1 s
e vk 1 . [ I
w58 -
BENIE 5 050 5 8 11| — ‘ ‘ ‘ ‘ ‘
FEIN 6 | 3
BIES
o _ T I
$BEH(H) > | 12 P
BE(E) 3120/ 8 | 6 |10 ] | | | | |
BEH() ) e
CEPE- 2d 2d 2d
gnE| 2| zoMm] ast vz %S
~Sw | 3 3 +2dl| NTMPR—=Y3 Y
~Sw R | 5 5 +2d| NTMPR—=3Y
fEBRRRAN 3 3 +2d | NMPR—T3Y
Ix=-#3| 4 4 + 2d | INTMPIR—T 3V
FrrLEE| 4 4 +2d | NTAMPR=T3Y
BEMTHIE 4 4+ d
IRIRHIE + d
FEMHE + d
IREESE ! 5
BAEE 16 [Fe: 0 B B



http://www.tcpdf.org

